
1

Quantum Optics – Taming the Quantum
Erratum

(Updated 11/25/2024)

This short document lists known misprints in the first edition of Quantum Optics – Taming the Quantum (Springer Verlag, 2021).
I would appreciate it very much if you would be kind enough to inform me of additional misprints that you may have found. The
best way is to simply send them to my email address: pierre.meystre@optics.arizona.edu.

Thanks in advance!

Pierre Meystre

—————————————

CHAPTER 1

In Eqs. (1.71) Ω1 should be Ωr.

Page 19: The second line of text should read ... "and with T2 = (2∕Γ + 
ph)−1 in the first case and T2 = (1∕Γ + 
ph)−1 in the
second case."

Eq. (1.94) should read

 = 1
2
∑

�
m� ṙ2� +

�0
2 ∫ d3r

[

E(r, t)2 − c2B(r, t)2
]

+ ∫ d3r {J(r, t) ⋅ A(r, t) − �(r, t)U (r, t)} .

Eq. (1.110) should read

H =
∑

� ∫ d3r 1
2m�

[p� − q�A(r� , t)]2�(r − r�)

+ �0 ∫ d3r[E2(r, t) + c2B2(r, t)] .

CHAPTER 2

Page 42: the last equation should read
∑∞
n=0 exp(−nx) = (1 − exp(−x))

−1.

Page 50: The sentence after Eq. (2.122) should read: "... the product of their variances is �2d1�
2
d2

≥ 1∕16.

In Eq. (2.155) Ŝ2(�) should read Ŝ2(� ).

U = �egei!t + c.c. ,

V = i�egei!t + c.c. ,
W = �ee − �gg , (1)

Figures 2.9 and 2.10: The angle of the input mirror should be rotated by 90 degrees.

Figure 2.10: The horizontal input field should be labeled Eb.
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CHAPTER 3

Equation (7.8) should read

| (t)⟩ = Ce(t)e−iΔt∕2|e, 0⟩ + Cg(t)e−iΔt∕2|g, 1⟩ .

CHAPTER 4

In the line following Eq. (4.6) the text should read: ‘where �i are the so-called Schmidt coefficients, with
∑

i �
2
i = 1, ...’

CHAPTER 5

Eq. (5.159) should read

dâ
dt
= [i(! − Ω) − �∕2]â +

√

�âin(t) . (2)

CHAPTER 6

Page 181, second line: the equation should read |±⟩ = 1
√

2
[|1⟩ ± |0⟩].

Page 183, the first and second first lines should read "... the operator
∑

k pk|Bk⟩⟨Bk|, and hence all |Bk⟩⟨Bk|, must be quantum
non-demolition operators..."

CHAPTER 7

Eq. (7.53) should read

�′(n̄) = 1
4v ∫

4g2(x)dx
√

Δ2 + 4g2(n̄ + 1)
.

The first line of Eq. (7.124) should read

E(d) =
∑

�

1
2
ℏ!� =

ℏc
2

∑

�
|k|

with |k|, not |k⟂|.


